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OArdl 22 A H] 7,500,000& = 1A 7,500
= 3,750
Al 3,750
303 ZA& 2 10,000 10,000 0
01 A2 10,000 10,000 0
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= 33,600
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= 33,600
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K GAS Ml A EXAE 677,143 581,442 95,701
Xl 474,000
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= 2,993,000
& 256,543
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a2 =2x83=2 SN MERID
MY | ZMESH
©9: HASS 4T X CERED
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AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
301 Bt A= 464,809 422,092 42,717
= 464,809
01 Al E & A 452 464,809 422,092 42,717
OJZME43N FRFIgol N
464,809,000 = 14! 464,809
= 464,809
AUAMNAHES 20 XA 190,850 167,993 22,857
= 152,680
== 11,451
Al 26,719
301 LBt A= 190,850 167,993 22,857
= 152,680
= 11,451
Al 26,719
01 Al E & A 452 190,850 167,993 22,857
OXYFINE FRYBE X
190,850,000 * 14! 190,850
= 152,680
= 11,451
Al 26,719
UAMNRAHE HLAEE S A& 90,000 90,000 0
307 S12t0| & 90,000 90,000 0
05 QIZtR &S 90,000 90,000 0
OXNAAHNE ALEBEZ XA
90,000,000& * 14! 90,000
ARAUOIIE B2sHIIE N 35,000 30,000 5,000
307 QI2t0| ™ 35,000 30,000 5,000
05 QIZtREZ 35,000 30,000 5,000
Og3adiotmte 2=sdIJ)I2XA
35,000,000 = 14! 35,000
NASES ME0Y & 829 3| 5,760 2,400 3,360
202 04d| 5,760 2,400 3,360
01 2L Hl 5,760 2,400 3,360
OJI=MEt883AR =AY
20,000 x 4% = 723| 5,760
SX AL ZAF 29AHH| 33,160 16,656 16,504
201 LBt | 13,000 1,056 11,944
02 Z2=2=24%4| 13,000 1,056 11,944
OESXUHAX XA 2 SUHNIFAIES
50,000 * 504 = 12& 3,000
OQe-Jde8NHIA R2ERZ3 10,000,000 = {14! 10,000
202 044l 20,160 15,600 4,560
01 2L Y| 20,160 15,600 4,560
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OXtgIZ2 AN (=01E)
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301 gEtE A= 1,000 1,000 0
800
60
140

= W

MIEtE2d= 1,000 1,000 0
<0 w=sHl X& 1,000,000& * 14 1,000

800
60
140

Z W

307 glztol & 1,550,504 1,354,555 195,949
1,244,242
92,737
213,525
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SESTEEES
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2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
307 2Iz2to| & 286,940 278,600 8,340
= 200,858
Al 86,082
10 MM SXAANEEHESIGHEX 286,940 278,600 8,340
OXEXEHyH 29 255,440,000 = 14l 255,440
= 178,808
Al 76,632
OslYUI|= Atdl &2l 31,500,000& = 14! 31,500
= 22,050
Al 9,450
JEARZEE B2 A HIA AFY 175,715 171,480 4,235
Xl 123,000
Al 52,715
307 2I2t0| A 175,715 171,480 4,235
Xl 123,000
Al 52,715
05 QIZtR &2 175,715 171,480 4,235
OJIAZHY g 222l AF X &
175,715,000 = 14! 175,715
Xl 123,000
Al 52,715
2258 Us 23X €3N (JLISEE) 220,423 181,930 38,493
= 176,309
Al 44 114
301 et A= 220,423 181,930 38,493
= 176,309
Al 44 114
01 Al E& A %52 220,423 181,930 38,493
OZRsEUsE =29 ©4:Z XN (YIS
£X) 220,423,000 = 1A 220,423
= 176,309
Al 44 114
NE=N ] 25,636 26,500 A 864
= 17,946
Al 7,690
307 2I2t0| ™ 25,636 26,500 N\ 864
= 17,946
Al 7,690
10 A EXNANEEHES2IH EX 25,636 26,500 864
OXHE A &2l 25,636,000 = 14! 25,636
= 17,946
Al 7,690
el JEXad 93| 4,320 3,600 720
202 04| 4,320 3,600 720
01 2ot 4,320 3,600 720
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2 541,476
& 235,275
Al 154,500
=0l B85 & X« 931,251 1,127,000 N 195,749
= 541,476
& 235,275
Al 154,500
C=0=2XAd 29 1 736,251 732,000 4,251
= 496,476
< 212,775
Al 27,000
307 212t0| & 736,251 732,000 4,251
= 496,476
< 212,775
Al 27,000
10 M SXNANEEHESIGHEX 736,251 732,000 4,251
OL%0E SN (NE2YNA)
698,751,000 = 1A 698,751
= 489,126
< 209,625
OL=0S 2NNV (HBZ2IBLSY)
10,500,000& = 14 10,500
= 7,350
< 3,150
OS2I 2 A 2218I (AIHI %)
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Al 22,500
01 Al&H| 90,000 210,000 A 120,000
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= 7,500
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=0 85 95,000 95,000 0




A= SIgE= SN HESFY
Ha: NAE =X 2
Sl Lxo 25 U X8 CERED
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307 glz2tol & 95,000 95,000 0
10 AL SXAIEEE 2 H EX 95,000 95,000 0
Ok=02ANEg2dg 95,000,000& * 14l 95,000
ekt LAIRS 10,000 10,000 0
301 et d s 10,000 10,000 0
01 MEIBZE 06z 10,000 10,000 0
Ogled Xt ZHH & HEWHI
10,000,000& * 14 10,000
BH2YAL (MBS D) 48,942 0 48,942
=23 (482 En) 48,942 0 48,942
Jl=dl 48,942 0 48,942
201 Let249] 35,292 0 35,292
01 At 22l 35,292 0 35,292
OtEzR=ER 20,000& = 5& = 12& 1,200
O=Xge EA-72Y 200,000& = 2& 400
OMRES ¥ 6,452,000 14 6,452
OAR2101 A2F 800,000& * 123 9,600
OJlEgess IA
7,0002 * 21 * 10 * 123 17,640
202 4l 9,450 0 9,450
01 S LHOIYI 9,450 0 9,450
OJleg a0l 90,000& = 21H « 53| 9,450
203 YR =&l 4,200 0 4,200
04 FN2ELRZ=LH| 4,200 0 4,200
ORN2YE 2=l 350,000& * 123 4,200
Hees(Ma2x) 2,817,188 2,700,000 117,188
WEHHX = 2,817,188 2,700,000 117,188
HEHH X = 2,817,188 2,700,000 117,188
701 JIEtSI HSEES 2,817,188 2,700,000 117,188
01 JIEtel HE == 2,817,188 2,700,000 117,188
OS2 SHIISELIN &S
2,817,188,000& * 14 2,817,188
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Hu: Lol =X =7
ool A2REM 1 (B9 ®R)
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
22X 82,501,819 81,362,562 1,139,257
= 51,567,022
< 6,403,117
Al 24,531,680
Lol 51 && 82,475,299 81,341,532 1,133,767
= 51,567,022
< 6,403,117
Al 24,505, 160
J2EH X 120,100 100, 340 19,760
LASXSEAE 22,000 17,000 5,000
201 Let24E] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OLuESXo et nsSHEEE N2
5,000,000& = 14l 5,000
307 21201 A 17,000 17,000 0
11T MISAASEX 17,000 17,000 0
Oz & Wit E 28 29 X&
10,000,000& * 14 10,000
O A S2AAIY AL 7,000,000& * 14l 7,000
SASTAMER 29 2 8,700 5,600 3,100
202 (4l 7,200 3,600 3,600
01 =i HI 7,200 3,600 3,600
OL=EXAMFN 2 0l
20,0008 = 4% = 902/ 7,200
203 YR =& 1,500 2,000 A 500
03 Al Z=A Y 2= 1,500 2,000 A 500
oo slgexza 1,500,000 * 14 1,500
MSRRE S4lHl 80,500 70,840 9,660
301 gt d= 80,500 70,840 9,660
0B MEERRIAEBH= 80,500 70,840 9,660
OMNBIZXAE ME=228 A
7,000& = 230 = 509H 80,500
IS S SAAE 22l 1,900 1,900 0
201 Let24d] 1,900 1,900 0
02 =24l 1,900 1,900 0
O332= % HAl 900
oHELSR &H CCTV ald A8 Z
35,000& = 104 ~ 12& 420
oHEUSR &8 dot=Z AEE
40,000& = 12& 480
OAl € ZHlI S X HI 1,000
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LORESAI2 FHEH 7,000 5,000 2,000
402 2I2H X201 M 7,000 5,000 2,000
01 It AP E X 7,000 5,000 2,000
OLQLBIAIIZ HHI2Y
7,000,000& = 14 7,000
Colde 2% 61,774,738 61,683,760 90,978
= 48,827,676
< 2,499,861
Al 10,447,201
x=o3 60,170,267 60,284,659 A 114,392
= 48,127,414
< 2,407,370
Al 9,635,483
301 e A3z 60,170,267 60,284,659 A 114,392
= 48,127,414
S 2,407,370
Al 9,635,483
01 AR 2Z A 53 60,170,267 60,284,659 A 114,392
OJI=H3 60,170,267,000& * 14! 60,170,267
= 48,127,414
< 2,407,370
Al 9,635,483
oy 132,000 148,080 A 16,080
= 26,400
Al 105,600
301 et d s 132,000 148,080 A 16,080
< 26,400
Al 105,600
01 MEI2EZE 06z 132,000 148,080 A 16,080
OF¥x=Lkol =& 550 * 20,000  12& 132,000
= 26,400
Al 105,600
LEE SEAMHIA AE 496,257 324,071 172,186
= 347,380
< 29,775
Al 119,102
307 21201 A 496,257 324,071 172,186
= 347,380
< 29,775
Al 119,102
05 QIRt2IE = 12,600 12,600 0
OEIIIMALAHI A AL 12,600,000 * 14 12,600
= 8,820
= 756
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< 29,019
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= 297,586
< 25,257
Al 102,279
307 glz2tol & 425,122 397,271 27,851
= 297,586
= 25,257
Al 102,279
11T M SXAISE EX 425,122 397,271 27,851
OLQEE JIZMEIA AHY
425,122,000 14 425,122
= 297,586
< 25,257
Al 102,279
ZZ2AY R4 A 195,000 195,000 0
307 gl2tol & 195,000 195,000 0
11T M ZXALSE EX 195,000 195,000 0
OZdzAY 234 25008 » 260 * 300 195,000
HAS MOt=Ql AlAH BHE 238,500 238,500 0
307 glz2tol & 238,500 238,500 0
11T MIEXAS EX 238,500 238,500 0
OMASE MOt AlAF HHE
3,000 = 2659 = 300 238,500
Lol AZAE 7,000 6,000 1,000
307 glz2tol & 7,000 6,000 1,000
11T M SRASEEX 7,000 6,000 1,000
Okel AR 70,000& = 1009 7,000
SAHLe SZHAESLE0l AlIAE 2= ALEH XA 110,592 90,179 20,413
= 55,296
< 11,059
Al 44,237
307 glz2+ol & 61,092 40,679 20,413
= 30,546
< 6,109
Al 24,437
11T MISRASEX 61,092 40,679 20,413
O=Hko SSHESE0 ALY 29
61,092,000& * 14l 61,092
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01 AR 2Z A5l 3 30,600 30,600 0
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101 1Al 38,228 30,117 8,111
04 JIZtHNZ22HEE+ 38,228 30,117 8,111
oZzId JlE & 29 24,502
=lleg 72,0008 * 18 * 230 16,560
oFgsd 72,000% * 18 * 462 3,312
oIt 72,0008 * 1% = 11 792
oAl 2tel=g
13,5003 = 1% = 20A12t = 128 3,240
cNEMUMEEE 23,904,000& = 2.5% 598
Oxg el o4 10,558
=lleg 51,500& = 10¥ = 20¢ 10,300
cNE MHEES 10,300,000& = 2.5% 258
O&=J Aaze e 3,168
olles 51,500 = 2% = 30 3,090
B MUMEEE 3,090,000& * 2.5% 78
201 Yer2 2t 607,630 498,819 108,811
01 AFR2t2lHl 28,150 17,995 10, 155
O==x=g X3 13,000
oSMAZF OIF =3 13,000,000& * 14! 13,000
OFAEE ¥ FMEE 2¥
700,000& =« 123l 8,400
OMSHE AIEES 4772 =4H|
2,000,000& = 23l 4,000
OMESHEH S 2RI LI=H|
200,000& » 5% 1,000
Oo=248=+¢ 1,750
o BRI AR E MAR RS
70,000& = 52! = 53] 1,750
02 2324l 579,480 480,824 98,656
O332= % HAl 156,180
oXMIIgtM eIl E2H
1,340,000& = 128 16,080




D MEASMAIHEA =4

2= i

D HEdH 2222 (=& J)
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
oHlol & H=2el 350,000 = 12& 4,200
oclMIIHA BE=Z 1,500,000& = 14 1,500
oAl 23 500,000 = 12& 6,000
ocXMII=a 10,000,000& = 12& 120,000
cQIHY ME3H Y HIIMES
700,000& = 12& 8,400
OA&EHl |Xdl 423,300
oYl RNRL o8
300,000& =« 123l 3,600
odtgtae 29 300,000& = 12& 3,600
cAlg2elE8Y & 2l
400,000,000& * 14 400,000
oM ¥ SAFH RAAL EY
1,100,000& = 12& 13,200
oZ¥stx ¥ M=sX HAH|
1,500,000& = 14 1,500
ocXNgHEHI FAY| 700,000& * 2CH 1,400
206 M=l 21,000 20,400 600
01 =8l 21,000 20,400 600
o&cizel s ¢ 2,000,000& = 14 2,000
O&tCl2el Hlg 7Y 500,000& * 43| 2,000
OAldzel 3Hl 2 3,000,000 * 14| 3,000
o4&z & 84t #¢ 1,000,000& * 123] 12,000
O&fl2el 237 2,000,000& = 14l 2,000
401 Al Bl 28I 75,000 70,000 5,000
01 A& HI 75,000 70,000 5,000
OMEHE SUHAIE &X 15,000,000& * 14 15,000
OdEIIHA HIJIFHAIE &X
15,000,000& * 14 15,000
OMEdEH HE8 2AHEF A 15,000,0008 = 14 15,000
OMEHE =&+ XML
30,000,000 = 14 30,000
Mo & 2868 29 199,956 213,304 A 13,348
201 £B-2dH| 127,656 130,824 A3,168
01 At 2t 2|l 20,000 44,500 A 24,500
OH4a AI2ZF ME 15,000,000 * 14 15,000
OSZME HME 125,000& » 123] 1,500
OMEBHME TAH L FA4RE 2Y
200,000& = 102l 2,000
OMEdH 29 &2 M=
100,000& * 5Jf & = 33| 1,500
02 8323l 7,200 8,500 A 1,300

)
=}
OXE & EMEMIE S ®X2el

600,000& * 123l 7,200




AR =2NEE= SN =MD
M NEASMAIEZA &4
Chelr MEdyH 2el.29 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
03 A2 I 100,456 77,824 22,632
Oger2 gl 75,456
oZ A2 (22) 120,000& * 1205 * 123 17,280
o2 M= (33) 80,0008 * 1215 * 123 11,520
oA AM=E(432) 70,0008 * 12105 * 123 10,080
oL A=E(FIHE) 38,880,000 * 20% 7,776
o=MYEIZZIY 24|
200,000& = 121n= = 123 28,800
O#A & DI EAl 4,000,000& = 43| 16,000
OORlsR, SA4XNY SYHA
9,000,000& = 14 9,000
202 04 Hl 4,500 4,680 A 180
01 = LH 4 Hi 4,500 4,680 A 180
ONMSHH &d3 =& bl
20,0008 = 5% = 453 4,500
206 = Hl 8,400 8,400 0
01 W24l 8,400 8,400 0
OSMECA W= & ME M
100,000 * 71t= = 123 8,400
207 A RO 21,000 0 21,000
02 & & 2 21,000 0 21,000

OB HE SHOIX S/W HL Y]
21,000,008 * 14l 21,000
301 BB 8,400 17,400 £9,000
EEN T EYE 8,400 17,400 29,000
OnE L A S4lH|
7,008 * 50% * 24 * 123] 8,400
405 TH&HF St 30,000 52,000 A22,000
01 AU 2EH St 30,000 52,000 £22,000
OXMEHE 2LFH 2 2J| 7 30,000

10,000,000& = 14 10,000
ocHMEALEES 7 20,000,000 = 14l 20,000
AAEAN 44 HEgd 24 64,000 0 64,000
201 fEt2E | 34,000 0 34,000
01 AtR2t2ltl 4,000 0 4,000
OsEsS M=% 2,500,000& = 14| 2,500
OX&ENEE A2HIS 7
1,500,000& = 14l 1,500
03 A2 S HI 30,000 0 30,000
OZAr=¢ 50,000& = 2% * 260€ 26,000




a2 =2x83=2 SN =MD
HE: MHEEA=MAEHEZA =4
R MEHME 22.29 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OXNEHAISIZUA ENE & 22U &9
4,000,000& = 1A 4,000
405 XHA&HF S HI 30,000 0 30,000
01 XA 2 ZF S H| 30,000 0 30,000
ODSE ¥ OMKEN 7
20,000,000 * 14! 20,000
OXNEH HEE &I 2
10,000,000& = 1A 10,000
Ko MENZ22H(MEFsSO0IE ) ZE ALY 500,000 0 500,000
Xl 150,000
= 105,000
Al 245,000
401 Al HI L 204 HI 500,000 0 500,000
Xl 150,000
o= 105,000
Al 245,000
01 Al&H| 496,000 0 496,000
OXNAMEZ22H(MEH=0IE ) ZEALE
496,000,000& = 14! 496,000
Xl 148,800
o 104,160
Al 243,040
03 Al&E 204 Y| 4,000 0 4,000
ONHME|Z2H( MEIsSO0IH)ZAAIY AIEET
ul| 4,000,000& = 1A 4,000
Xl 1,200
o=t 840
Al 1,960
EHstE XA 4,160,976 1,963,059 2,197,917
= 50,000
Xl 2,610,000
o 350,200
Al 1,150,776
ot s 3 55,292 97,019 N4, 727
MEfSIE Z M 22l 51,292 93,179 A41,887
101 e1214| 16,892 16,339 553
04 JI2ZtHI22NHEES 16,892 16,339 553
OMEctE KAl 16,892
o0olgQl 51,500 = 20¥ * 16 16,480
ocNENNMEEZE B2
16,480,000 * 2.5% 412
201 et 9d| 14,400 36,840 N 22,440
01 AP 2t 2] d| 5,400 7,300 A 1,900
Ogtt4f2Y| 5,400
oMEEA EE= M 1,000,000& = 23] 2,000




A SA - SAEA) - MRAY - BES 0l &t o il HImEET
oMEstd2e ARHS ¢
10,000& = 45 * 2000 « 23l 1,600
oME St EHl &Hl YXt 600,000 * 32 1,800
02 2324l 9,000 29,540 220,540
OAl& & Hl s X bl 5,400
oMdEictd 33 AME=E |2
5,400,000& = 14 5,400
03323 % HA 3,600
oHots MIIR=S 300,000& = 123 3,600
401 Al HI K 201 20,000 40,000 220,000
01 A& HI 20,000 40,000 A20,000
OMEHSIE FZAIE 2= 20,000,000& = 14 20,000
MEfotd =4 2el 2F 3 4,000 3,840 160
202 O4dl 4,000 3,840 160
01 = LH 4 Hi 4,000 3,840 160
OdE st 2el =& oddl 4,000,000& = 14! 4,000
sx==2 4,105,684 1,866,040 2,239,644
= 50,000
Xl 2,610,000
< 350,200
Al 1,095,484
=EZIHS &K SEAAZ 3,728,571 1,685,714 2,042,857
Xl 2,610,000
< 335,200
Al 783,371
401 Al HIZ 2018 3,728,571 1,685,714 2,042,857
Xl 2,610,000
< 335,200
Al 783,371
01 A& HI 3,728,571 1,655,714 2,072,857
O=Zis X SEAY
3,728,571,000& * 14 3,728,571
Xl 2,610,000
< 335,200
Al 783,371
MEISA =422l 277,113 175,706 101,407
101 @124 dl 35,633 34,466 1,167
04 IIZHH2RNES S 35,633 34,466 1,167
OsX HM=xgo=e 35,633
cJIE= 51,500& = 15% = 45 34,763
cNELMEE RES  34,763,0008 * 2.5% 870
201 YEt2 | 44,780 38,900 5,880
01 AP 2teltl 17,620 22,000 A 4,380




M ox
40 5 4

= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t
OZZE JINHSA 222 M
1,500,000& * 28 3,000
OMEN& X HHl ZHl Xt
500,000& = 2& * 83l 8,000
O=&IAN =& 80,000& = 8XI&E = 83 5,120
OsXoil& At I =H| 150,000& * 10 1,500
02 =224l 24,160 14,900 9,260
OZESRK CCTV sl =
120,000& » 63/ « 123 8,640
OZEZ&EX LEAdEH &Y =2
70,000& = 123 840
OZEZEX L2AdH CIHY AEZ
70,000& = 123 840
OXNXIEH =HEZE sl
3,000,000& = 14 3,000
OMEHSEX A2 |X2el
7,000,000& = 14 7,000
OZEsk 3% S ®IJl= 300,000 = 12& 3,600
OZEZsK s=U &&= 20,0008 128 240
03 A2 Z Hl 3,000 2,000 1,000
OMEIMEZZ0e A& A
3,000,000& = 14 3,000
202 04l 4,500 0 4,500
01 = LHA Yl 4,500 0 4,500
OsXN=3AY =&
20,0003 = 53 = 453 4,500
206 M= Hl 24,500 28,200 A 3,700
01 =8l 24,500 28,200 A 3,700
Oz BR 2 EXN 7Y
5,000,000& = 14 5,000
OXC 2 X 2alg &4 7
3,000,000& = 14| 3,000
OSXZEZAL HAE 7
5,000,000& = 14 5,000
OseHYE 228 Mz ¢
3,000,000& = 14 3,000
Oodlz & &4 +¢ 2,500,000& = 14 2,500
OMEHSK Ald=22el 7
3,000,000& * 14 3,000
OHMEH&X ME2E HH 7
3,000,000& =« 14l 3,000
301 g2 L= 9,700 15,940 A6,240
09 HALAHIEA S 9,700 15,940 NB,240
OMdHIUHEH 2924
48,5003 * 1098 » 20 9,700




M ox
40 5 4

ENEEE SM=sM4EF
dEEH Y
S+=¥

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
401 AlEHIZL 2 0HY| 148,000 50,000 98,000
01 Al&H| 145,000 48,000 97,000
OZEIIAHESA W X822 =4
50,000,000 * 14! 50,000
OIZLHESXNA N2 B
15,000,000& = 1A 15,000
OJINHSK W g2 X4
50,000,000 * 14l 50,000
OIEINAIASK F=THEE HUHAMY
30,000,000& = 14! 30,000
03 AlE 201 Y| 3,000 2,000 1,000
OZIEIAIASK AEAIE 20|
3,000,000& = 14 3,000
405 XHA&HF S HI 10,000 8,200 1,800
01 XML 2 FF S| 10,000 8,200 1,800
OMENS A 22 &HH 7L 4,000,000 = 14 4,000
OHIIANHESAK I8 &H 2
3,000,000& = 1Al 3,000
OMEIEXN 2LHE &HH 7
3,000,000& = 1Al 3,000
ME22XE XY, 22 100,000 0 100,000
= 50,000
& 15,000
Al 35,000
307 2iz2to| & 100,000 0 100,000
= 50,000
& 15,000
Al 35,000
02 QIZIA AAIE B X 100,000 0 100,000
OMEf 22X A XEH 100,000,000 * 14! 100,000
= 50,000
& 15,000
Al 35,000
A EH = AH 2t 2 132,000 105,000 27,000
MEH = A 22 TR S} 132,000 105,000 27,000
NASABSEHOISAIE AFY 132,000 105,000 27,000
401 AlEHIZL 2 0HY| 132,000 105,000 27,000
01 Al& H| 130,000 100,000 30,000
OME 2 =HEH € NEAHEZ X Z2A
80,000,000 * 14! 80,000
OME|2~B LA HZE Bz EX2A
50,000,000 * 14! 50,000
03 AlE 20| 2,000 5,000 A 3,000
OMEN 2 AlESAF 20| 2,000,000& = 1A 2,000




W
i}
x
Jr
z
X
>

A= SN = My d
Hu: BFEH
ool BASE (as CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
gFEA 134,000 406,200 A272,200
= 32,000
Al 102,000
SHEH st 134,000 406,200 A272,200
= 32,000
Al 102,000
ESAZOEN 29 66,000 52,200 13,800
= 23,000
Al 43,000
301 LA Z 66,000 52,200 13,800
= 23,000
Al 43,000
1MIIEESS 66,000 52,200 13,800
OBAZEQAERN EHAU 242
46,000,000& = 14 46,000
= 23,000
Al 23,000
OSAIZOIEM MU 243 (AHIFI)
20,000,000& = 14 20,000
JelAEE #SKIE 18,000 0 18,000
= 9,000
Al 9,000
307 21201 A 18,000 0 18,000
= 9,000
Al 9,000
02 IS AHE L 18,000 0 18,000
OJsl2IH (A AEIE)8#SX&
18,000,000& * 14 18,000
= 9,000
Al 9,000
HIISR2 24&Jt2 iUX SE22HM =8 50,000 0 50,000
201 Let24E] 20,000 0 20,000
01 At 22l 20,000 0 20,000
O0UXl SEZ2CHM BdS ==2
20,000,000& * 14! 20,000
207 RO ] 30,000 0 30,000
01 A2 39 30,000 0 30,000
OSaIA SHBRIH 0/#HE 29
30,000,000& = 14 30,000
X =Zetd 2,295,993 1,097,476 1,198,517
= 184,800
J| 151,300
= 459,560
Al 1,500,333
HUX 22 1,320,631 575,476 745,155




M ox
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YR SN EMAE
DOILR A2
A EPNCE

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 184,800
< 303,360
Al 832,471
OUXER 2E2 UK Ss2el 23,151 21,516 1,635
101 @14 Hl 3,876 0 3,876
04 JIZHZ22XREES 3,876 0 3,876
OHEI HIIZA 12
57,000& = 2% = 34¢ 3,876
201 ¢er24] 16,875 19,116 A2,241
01 At 22/l 11,068 14,309 A 3,241
OJtAaetdEZ ABHIE 7¥
2,000,000& = 14 2,000
ONUXIZE E22 HMZ  3,468,000& » 14 3,468
OlUHXIZS HEEE 2,000,000& = 14 2,000
OJAQHEAILN Y EE2S M
3,000,000& = 14 3,000
OfUHXEAuE 2AZ 300,000& * 23 600
02 2324l 5,807 4,807 1,000
ONAtEEE =3 20,9003 = 230AlICH 4,807
O=2s,20J] ¥ =2 500,000& * 24 1,000
301 et 8= 2,400 2,400 0
09 HALAHIE& S 2,400 2,400 0
OJACHH BS22X 24 N2
2,400,000& * 14 2,400
OUX ESAE 233l 4,520 4,200 320
202 Odl 4,520 4,200 320
01 = LH 4 Hi 4,520 4,200 320
ONUXESAY g2=2
20,000& = 28 = 1133l 4,520
MOIE LPILAAIE A 231,000 234,000 A 3,000
= 184,800
< 13,860
Al 32,340
403 A X EHH S 20l A 231,000 234,000 A 3,000
= 184,800
< 13,860
Al 32,340
02 I 2S0ICHet A== OH & Ar H 231,000 234,000 A 3,000
OMBIE LPIOIAAIAE I AL
231,000& = 1,000= 231,000
= 184,800
= 13,860
Al 32,340
SAIJIA BZAIE £Xd X3 675,000 0 675,000




AR =2NEE= SN =MEED
H: UK +2E
e WX E=2 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 135,000
Al 540,000
402 SI2F 20| & 675,000 0 675,000
= 135,000
Al 540,000
02 QI 2HCH &AM HI 675,000 0 675,000
OFEAXNE TAINAZSAELEXE XA
675,000,000& = 14 675,000
& 135,000
Al 540,000
S FE TAIDIA B3 E 101,960 301,960 A 200,000
201 LBt 1,960 1,960 0
01 AP 22| H| 1,960 1,960 0
OZANINAZZAA/AXS 39 =&
70,000 * 14%Y * 23| 1,960
402 BI2H X 20| M 100,000 300,000 A 200,000
01 QIZEXIE2AIE 2 X 100,000 300,000 A 200,000
OHSFe S TANA Z2B ZA
1,000,000& * 100AICH 100,000
SHE0I2S LPGAE MNEYO 23 A 270,000 0 270,000
o= 150,000
Al 120,000
403 XX ESHHS K20 & 270,000 0 270,000
o= 150,000
Al 120,000
02 2| 2SO HetX =& & A HI 270,000 0 270,000
OsHE0IS LPGAENMEY A ES3AIYE
270,000,000& = 1A 270,000
o= 150,000
Al 120,000
NASS DEXIIP? BIOIH=E XA 15,000 13,800 1,200
o 4,500
Al 10,500
403 XX S M S X201 & 15,000 13,800 1,200
= 4,500
Al 10,500
02 2| 2SOt 2 & & A HI 15,000 13,800 1,200
OMASE DEXILF EIOINHE XJAAE
60,000& = 250 15,000
= 4,500
Al 10,500
AMIHMAHHUXES 975,362 522,000 453,362
J| 151,300
= 156,200
Al 667,862
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D ENsE=

A =setd
MMM U ES

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
HUXIXEHE sMIBAIE X4 369,000 274,500 94,500
== 110,700
Al 258,300
402 BI2H X 20| M 369,000 274,500 94,500
o= 110,700
Al 258,300
01 QIZEXIE2AIE 2 X 369,000 274,500 94,500
OXMTHMHH X =&KX SAS
369,000,000& = 1A 369,000
& 110,700
Al 258,300
AMAIS2e = E EHFZE A 40,000 0 40,000
Jl 20,000
Al 20,000
401 Al EHI L 204 HI 40,000 0 40,000
Jl 20,000
Al 20,000
01 A& H| 39,000 0 39,000
OMANS2RIE2Y EHYE &Y
39,000,000& = 14! 39,000
J| 19,500
Al 19,500
03 Al&E 201 Y| 1,000 0 1,000
OaNS2eIdEZ2 Y BN ZEH AIZ220UYI
1,000,000 = 14! 1,000
J| 500
Al 500
MNAES LEDZYH WA AL 101,000 120,000 A 19,000
Dl 70,700
c 9,100
Al 21,200
403 XX SHH S X201 A 101,000 120,000 A 19,000
J| 70,700
o=t 9,100
Al 21,200
02 BI2SOHUSXA=2EUEAIE Y 101,000 120,000 A 19,000
OMASEZE LEDL A 101,000,000& * 14 101,000
J| 70,700
= 9,100
Al 21,200
I8 ASEHAYEEN) B3 ALY 4,000 0 4,000
& 1,200
Al 2,800
402 SI2v X0l & 4,000 0 4,000
& 1,200
Al 2,800
01 QIZEXIE2AIE 2 X 4,000 0 4,000
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D 2xsn= B =AMA

il = O T -

A =setd
MMM U ES

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
OJNEE8 AL 2LEI ESAMY
400,000& = 10 4,000
= 1,200
Al 2,800
S&c 22 HYEE &4l 40,000 0 40,000
J| 20,000
Al 20,000
401 Al& I 28I 40,000 0 40,000
J| 20,000
Al 20,000
01 A& HI 39,000 0 39,000
OE8eld29 g 4l
39,000,000 * 1 39,000
J| 19,500
Al 19,500
03 Al 2 THHI 1,000 0 1,000
OHEcIZ2Y LS £Hl AIZF U
1,000,000& * 1 1,000
J| 500
Al 500
MIISXA4E LEDEZ WA At 58,000 127,500 269,500
J| 40,600
< 5,200
Al 12,200
401 Al HI & 28I 58,000 127,500 A 69,500
J| 40,600
< 5,200
Al 12,200
01 A& HI 57,000 125,500 A 68,500
OSXAE LEOH 57,000,000& * 1 57,000
J| 39,900
< 5,110
Al 11,990
03 A2 S THHI 1,000 2,000 A 1,000
OSXAIE LEDWHM AIE=2UbI
1,000,000& * 1 1,000
J| 700
= 90
Al 210
=UAE DU ESAHY 100,000 0 100,000
< 30,000
Al 70,000
402 RI2HX20l ™ 100,000 0 100,000
< 30,000
Al 70,000
01 A=A EX 100,000 0 100,000




AR =2NEE= SN =MEED
M UHX =203
Sl ATHAOILI X 22 (ol ml)
- — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
O=gAIE J0UX 2SAHE
10,000,000 * 109H £ 100,000
= 30,000
Al 70,000
ATHEUHUHX 2522 18,862 0 18,862
101 @14 dl 14,400 0 14,400
04 JIZHHZ2XNHEE S 14,400 0 14,400
OMMMMUHUHX 2SAE 2LHE
90,000& = 2% = 80¥ 14,400
201 £B-2%H| 4,462 0 4,462
01 At 22/l 4,462 0 4,462
OATHMUHUX &2 1,500,000 * 14l 1,500
OHolHE SN 23 448
150,000& * 14l 150
OBYT o A+ALMAL RECES L B2
=3 1102 = 1,600REC * 12& 2,112
OUUXIMARAAS =5 70,000& = 10¢! 700
AN UK ES ALY 222l 4,500 0 4,500
202 044l 4,500 0 4,500
01 SLHOIYI 4,500 0 4,500
OLUMMMUHUHX ESAY 23823
20,000& = 5% =« 453] 4,500
AOLEDCE EHAMI(IIHEF X ALL) 240,000 0 240,000
403 UtXISHH S A0l & 240,000 0 240,000
02 S| 2SO0lCHSHA2 X CH &l A I 240,000 0 240,000
OADEDC|E&AAISE (AT X & ALY)
240,000,000 = 14 240,000
HY2HIH (=MEF) 16,200 13,400 2,800
Jl2 &3l 16,200 13,400 2,800
JlE&l 16,200 13,400 2,800
201 £Br2dH| 6,900 6,900 0
01 At 22/l 6,900 6,900 0
OHFANRES ¥ 200,000& * 123 2,400
OAMRI1Jl 22HIS 300,000& = 123 3,600
OtEzR=EE 15,000& = 5& = 12& 900
202 O4dl 6,300 3,060 3,240
01 = LH o4 1l 6,300 3,060 3,240
OJlz2g==3 0t 90,000& = 14H « 53] 6,300
203 YR =& 3,000 3,440 A 440
04 EA2IYRFLH| 3,000 3,000 0
ORNZ2ELRFA 250,000& = 12& 3,000




N = 0l & At & Ml A

sSXNgZ= FNM A=
WG MBEE TH
SN0 NAHHEH 29 CER-ED
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
2t 20,410,772 22,609, 165 A 2,198,393
= 378,000
< 63,510
Al 19,969,262
HEE MEEF =4 9,547,427 11,773,734 A2,226,307
= 378,000
< 53,725
Al 9,115,702
SEXQ NJ=2dH 29 1,161,124 1,174,659 A 13,535
EAtS R 2tel 250,766 245,612 5,154
101 @124l 26,230 25,306 924
4 JI2ZtHZ22 s+ 26,230 25,306 924
Otz edy FAUAE Ry 15,414
cJIE2=s 51,500& = 4% = 60 12,360
oxELY 51,5008 = 4% = 112 2,266
RGN RS 51,5003 = 4% = 2¢ 412
cNEMHEEZ 15,038,000& * 2.5% 376
ORYA=SME =8 LY A2
51,500& = 5&F * 3g » 73 5,408
ONREEBEEH Z8 T4 AT 02
51,5008 = 7& * 3 » 53 5,408
201 Let24d] 171,536 161,306 10,230
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oAU (AYLY)
60,000& = 160H = 123 115,200
ocSg MY (FUZAH|)
160,000& = 160 » 12& 307,200
o=selE MU (JtAE X=HI)
110,000& = 160 » 12& 211,200
oSgFMH(REEXH])
140,000& = 160 » 12&8 268,800
oscl&4H|(2tAlH])
1,800& = 160H » 262 » 12&8 89,856
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AR RA - ZBEAGEH) - MRAY - BES il 2
o So MU (FEFIH]) 402,504
- 164 2,096,370 * 60% * 23| * 160YH 402,504
ocxZRE(A2R)
23,4603 = 1602 = SAIZt = 128 225,216
oXUZRE(0F2)
7,820% * 1169% * 26 * 128 283,022
ocXUZRH(FLAHE)
70,3803 * 160Y¥ * 52 = 128 675,648
ocXU2R+E(ANRIFIH)
125,120& » 160%F » 20 400,384
oXtHEHIEXZLY(DES D)
463,990 * 160Y = 0.2 = 43| 59,391
oIl =t 80,000
S AYs 90,000& = 160H = 23l 28,800
29 40,0003 * 160H 6,400
et = 120,000& * 160H 19,200
ENp)| 20,000& = 160 * 23| 6,400
Eageel 50,000& = 160Y « 23] 16,000
g4 S 10,000& = 160H =« 23| 3,200
o320z RFES 8,655,999,000& * 4.5% 389,520
ocHAEE 2Y3  8,655,999,000& = 3.06% 264,874
cAIQAEE RES
264,874,000& * 6.55% 17,350
cUEMHEEE 8,655,999,000& * 2.5% 216,400
o= RE=S
4,000,000& * 7% = 214 = 150% 882,000
ocEXNSS2AFL WEH EX
3,000,000& * 10¥ = 23l 60,000
cgd0lstd HEES 7,680
masE 40,0003 = 160 6,400
QIEF AT 8,000& » 1609H 1,280
ZRASZ2ZAIN QA 32,621 17,645 14,976
< 9,785
Al 22,836
101 @124l 32,621 17,645 14,976
< 9,785
Al 22,836
03 I AHA2ZZHE > 32,621 17,645 14,976
ORJAHS 22X E= 32,621
=lles 1,461,200& * 1€ * 123 17,535
= 5,260
Al 12,275
SR IGES 1,461,200& » 1F * 400% 5,845
< 1,753
Al 4,092
octEdE 40,000 * 1Y = 128 480
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I HMSAAH| (AHJ=2)
?: ol | (St &)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
=) 144
Al 336
oDl 50,000 = 1¥H » 12&€ 600
o= 180
Al 420
o N oGl 300,000& ~ 1€ * 12& 3,600
= 1,080
Al 2,520
o @A S IHY| 1,461,200 = 1€ x 120% 1,754
= 526
Al 1,228
SAHEE (AFE R 2,807,000& = 1Al 2,807
= 842
Al 1,965
JlE&dl| 35,737 34,904 833
Jl2&Hl 35,737 34,904 833
201 et 9| 21,457 20,744 713
01 AFR 2t 2| bl 20,545 19,104 1,441
Ogttf=2y| 9,880
oHHPANRZEE FH| 350,000 = 12&€ 4,200
oA AR AUl =44
200,0009 *« 4= * 23| 1,600
oplEREE 15,000& » 6= * 12& 1,080
o J|Etx=2H| 3,000,000& = 1Al 3,000
OF=1=1] 4,725
ocl|lE2Y 4 ZAH|
7,0008 * 27 x 253 4,725
oYxtz 5,940
oXdL)| UXE 55,000& * 99U = 12& 5,940
02 =224 H| 912 1,640 NT28
OZ2222 ¢ HMA 912
oTVLA &S 76,000& * 12&€ 912
202 044l 10,080 8,840 1,240
01 2Ll 10,080 8,840 1,240
OJl2gs=sud| 90,000 * 28% * 43| 10,080
203 YR XXl 4,200 5,320 A1,120
04 EASHEIRFAH| 4,200 4,200 0
OFRMNSIEEFA 350,000 = 12&€ 4,200
MHEES(XA=81}) 200,000 200,000 0
TEDE DI 200,000 200,000 0
FOIXEI=2 =4 200,000 200,000 0
702012HE3 200,000 200,000 0
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